Ho

s AT, AL BHNOE $2 AL

ofd AA%4E 2 wste] 5 & W Sk 1 5

o] 3t}

it

3 H

e

ZHTH

D 3x+2=5x-4 @ 2x+5=3x-1

® 2x-5=3x+1 @ 3x-2=5x+4

® 3x+2=5x+14




=

i

2~
e

oo

@ A1)
@ D(0)

A

CEEEEE

it

7122 e

<
=,
ofx
go

B DA C E
-4-3-2-101 2 3 4 5 6

@ B(-3) ® c(

© £ (3)




® y=12x

@ y=x-12

O y=x+12

® xy=12



ojn

SfjoF sh=717

kR

—-x=1->x=4

o

Ho

!

Ho

il
— | <f

gl

o)



5. ol® eb17 of o2 I o 28 Hrt 5 7k A ofH 7

® 9 @ 10 @ 11 @ 12 ® 13



71z29] Zdo]7h Alze] Zol et sem ¥ A1, Se2] 2017} 18cm <
22k 0] ol i

@ 12cm? @ 14cm? @ 16cm?

@ 18cm? ® 20cm?



7.

Qe PA y = ax O] TZILH (-

D y=-x @ y=-2x

@ y=—4x ® y=-5x



y=22 2227} (-2,3) € A W, T % o] T 9jo] Y

Aol obd 717

@ (-1,6) @ (-3,2) @ (2,-3)
@ (3,2) ® (1,-6)



@® -3x+5=2x-5 @ 4-3x=-2(x-2)-x
® 6-x=+x @ 3x-5=3(x-2)+1

® 4(x+1)=-2



@ 3a =6b °|H a = 2b °]t}.
® gigolﬁ?)x:Qyo]E}.
@ a=3b°lHa+1=3(b+1) o]t

® ac=bcolAa=bOJth(F c#0)



1

0| <t

Yol Ko}

[\l Kap}

N0



12, y 7bx o BHl#sta, x = 2 o]/ y = 10°]th. x = 3 Auf, y 9|
wen

@ 0 @ 10 ® 12 @ 15 ® 16



13.

a7k ZGelA 10 He] %7
A 51 oA 8

ot W27} B o ghoflx
Qrof| A Bl 2of B 57

Iﬁ -

&3 AEstn B

Jr:, >
rlo

i
x&&
o% ok
I =
N

5 o

® 8™ @109 @ 1149

Ae H-e-aL
o] s4je] =l

723 A Bt el A & 57 S
=

® 16 ¥



14. A, B, C Al AFE2 50 m ©72] 455 Pot. ST A x = 59
FUHoRLEH Hojdl ARE ym 2h shAk x o}y Aol #AIE
O el ot 2e o, o F g2 ALY

}’(m) A e A —B --C
50 e
40 ,»"/’
N i
20|
10/’/;’

O 12345678 x(x)

O AHSHE B wi7tA] A, B, C Al AFES] &9 H52 ¢l
@ B7} 1502 Sojgdt}.
® B9 £ AR E7HA] AT
@ C7t Ao E01& W7k 2™ A2 9x0|th
T}
=

® AE1x Z10mE



15.




